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1. Answer the following as directed : 1x8=8

{a) Any settlement in which most of the
people are engaged in agriculture,
forestry, mining and fishery is known as

settlement.

( Fill in the blank )

(b) What does CBD stand for?
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(2)

(0 The urban centre of India with more
than one lakh population is known as
class I urban centre.

( Write True or False )

(d) Name the transitional zone where urban
and rural uses mix or often clash.

fe/ A place, typically one which has
previously been uninhabited, where
people established a community is
known as

( Fill in the blank )

() ____ is a small settlemerit that has no
central place of worship and no village
halil.

( Fill in the blank )

(g} Oasis has which type of settlement?

(h) Flood-prone areas ~generally have
wet point / dry point / strong point
settlement.

( Choose the correct answer )

2. Write short notes on any four of the following
(within 120 words each) : 5x4=00

(a) Evolution of Settlement
(b) Process of Urbanization

(c) Concept of Capital City
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(3)

(d) Patterns of Rural Settlement
(e} Urban Fringe

3. What is human settlement? Discuss the
factors affecting the location, spacing and
dispersion of settlements. 3+10=13

Or

Discuss the reason for the establishment of
settlement across the various types of
landscape and classify the major types of
settlement. 9+4=13

4. What are the most important features of
rural settlement? What are the major
problems and challenges in rural areas?

Discuss how rural settlement changes.
4+6+3=13

Or

Discuss the role of economic factors in
promoting settlement hierarchy. 13
5. What makes an area rural or urban?A\.)Vrite
about the morphology and functlozalg .
. +-L)=
analysis of towns. 3

Or

Discuss the problems associated with urban 3

areas in India.
{ Turn Over )
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(4)

6. Discuss the concentric zone theory of
settlement hierarchy. 13

Or

Discuss Christaller’s theory of market centre.
Mention its relevance in present-day context.
11+2=13
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